LABJNDu3-Normhelligkeit L*

L* YocmL*w - nc=100,

L* | aBanDuz=[IN[(A 17+A2a)I(A 2nA0n)] (Yno/100<Y<=Y,0)
L* \(3.6)=146 L* ,(18)=332,L*,,(90)=517

L*gg=517,21, AL, 20
L*1g=332,22
1736146, 1177 2,22

aNE36 TYy=00
LABJINDu3
Normfarbwertdifferenz
Yoc=L* w nc=100,
L* Laganpua=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,c)
dY=Agn(A1+AzY)  Ag=0,017, A4,=0,0058
Aonpes=L,5, Aon =10, siehe CIE 230:2019
0Y,;=0,80, Ay=1,500, G=0,67
dY;g=0.17, An=0,011, Ar0.0058 7
dY3 0,04 Y, 718, dY=0,1 2
L*,=332 dY,=0,17, dY,/Y,=0, 0096 s

Anwendungs-
bereich

'y,=18

log (AY/Y) LABJINDuU3
. Normfarbwertemfindlichkeit
SHEYY Yoc=L*w - nc=100,

L* Laganpua=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
AYIY=Agr A1 Az Y Y

(dY/Y}=0,0088, Ay=1
(dY/Y)=0,0096, A =0 ,Ag 0, o
(dY/Y}6=0,1134 Yu=1& dY=0,17

log(dY/Y)E-2,01, m =012~ _

L* ;=332 dY,=0,17, dY,/Y,=0,0096
1
1

1Y,=18
Yw=90

S Anwendungs
~ bereich

Yn=3.6

LABJINDu3
Normfarbwertkontrast
Yoc=L*w - nc=100,

L* L aBanDuz=[IN[(A 1r+A2a)I(A 2nA0n)] (Yo 100<Y<=Y,0)
YIAY=Y/[A on(A 1n+A,Y)]

(Y/dYy=112,48, Ay=1,500, 6=0,67
(Y/dY)g=103,63, A=0,011, Agn 0,0058
(Yrdy F74 37 Y,=18 dY=0,1

log (Y/AY)
C,=(Y/AY)

L*=332 dY,=0,17, Y,/dY,=103_
log(Y/dY)=2,01, m,=0,09 = =
bereich
Y,=18
R

Yn=3.6

Anwendungs-

Iy
{1

LABJINDu3 relative Normhelligkeit L*/L* ,
YocmL*w - nc=100,

L* | aBanDus=[IN[(A 10+ A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
L* \(3,6)=146 L% ,(18)=382,L*,,(90)=517
t*goll_* \=1,55, A=1,500, ¢=0,67

L*=1,00, A,=0,011, A= 00058
L¥3 dL¥=0,43 L% 332,22 ¥£1

log[L*/L* ;]=0, m,=0,33

Anwendungs-|
bereich

T3 Yg=90

log(A Y/AY W)
AYIAY,

LABJNDuS3 relative
Normfarbwertdifferenz
Yoe=L*w ~ ne=100,
L* L aanDus=[IN[(A 1n+A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
dY/dY,=AgnA 11+AanYI/dY,

dYeo/dY,=4,60, Ay=1,500, ¢=0,6

Y,g/dY,=1,00, A 0011/:2 ,o
dY ¢dY,=0,27, Y,=18, dY=0,17

L* =332, dY,=0,17, dY,/Y,=0,0096 /,
7

Anwendungs-
bereich

1v,=18
Y=90

log [(AY/Y) I (AYIY)] LABJINDu3 relative
Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.

L* L aBanDuz=[IN[(A 10+ A2 )I(A2nA0n)] (Yn/100<Y<=Y,0)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

(AY/Y/(dYIY)=0,92, Ayr=1,500, =0,67
(AY/Y)(dY/Y)=1.00, Ar=0.011, A,=0,0058
(dY/Y% (Y )i =1,39 Y,218, dY=0.17

oG ANV Y0, mm0,0 1
L*,=332, dY,=0,17 dY,/Y,=0,000¢ powendungs{

1y,=18
Vo200

Y236
log [(Y/AY) I (YIAY),] LABJINDuS relativer
Normfarbwertkontrast
ClCr=(YII(YIAY), oy 106,
L* Laganpua=[IN[(A 1n+A2nV)J/(A 2rAon)] (Yac/100<Y<=Yyo)
YIAYYCYIAY ), =(YIYIAY L )TA on(Arr+ AT (YY),

(Y/dYpo/(YIdY)=1,08, Ay=1,500, ¢=0,67
(Y/dY)g/(Y/dY)=1,00, A =0,011, A, =0,0058
(Y/dY} ¢(Y/dY)=0,71, Y,~18 dY=0,17

YN=3.6  Yw=90




